for(int bar = GetTradingloopStartBar(201); bar < Barz.Count; bar++)

{
if (IsLastPositiondctive) Debug and Error Messages
{
Position p = LastPosition; X Clear R TOmeSt
sharp(bar] = |
ROC.Value (bar,Close, bar - p.EntryBar) / :zig -
StdDev.Value(bar,Close,bar - p.EntryBar,StdDevCalculation.Population); tea0
if( double.IsInfinity(sharp(bar]) || double.IsNaN(sharp[bar])) 5863
sharp[bar] = 0; 5364
PrintDebug( bar ); 5865
5324
if ( bartl - p.EntryBar =6 ) s
5345
5346
JellAtMarket( bar+l, p, Bars.FormatValue (sharp[bar])); 5347
elze 5958
if (CrossOver(bar,Close,DataSeriesCrossibove)) 5555
5960
5361
SellhtMarket (bar + 1, p, Bars.FormatValue(sharp[bar])); s962
} 5963 y
else
{

if( (rsi[bar] < 5) & (atrp[bar] > 1.0) && PriceToBook[bar]>Q &&
(Close([bar] » DataSeriesGreaterPct[bar]) )



